Kombat roolz:

Basic rules

ALL ROLLS ARE DONE BY 2D10 INSTEAD OF D20. This not only goes for doing combat, but all instances where a 20 sided die was required before. Critical successes are if you succeed by 10 or more than needed or on natural rolls of 19 or 20. Similarly missing by 10 or more or rolling 2 or 3 indicated critical failures.

For graphs illustrating the effect of using 2d10, see appendix. 
Rule of five

In any given round any roll on 2d10 reduces the next attack roll, skill roll or defence roll (see below) by 5
 reflecting that it is harder to do many things at once. This means that a creature forced to roll a defence roll to avoid a sword before getting to attack himself may avoid the sword, but will still suffer –5 to all further rolls, including attacks, for the rest of the round to reflect the effort put in to avoiding the attack. Similarly a fighter that attacks 2 times will be hard pressed to avoid the ray of lighting directed at him later. Time, off course, does not pass in small units like rounds, so it may seem unreasonable that a person doing something at the end of a round so harshly penalized compared to someone in the beginning of a round, but this is to reflect that timing means a lot. So if you spend some time (i.e. actions) biding your time – waiting for the right moment – your opponent will be much less likely to be able to react to your action. Sick the dogs on the bear and wait for the clear shot… 

Saves also count as an action in the sense that they also reduce the next roll, but they do not themselves suffer from the rule of five. Any action that is a free action does not incur the rule of five penalty.
Monsters attack and defend as written in their normal stats mirroring their different modes of fighting. The monster will normally not attempt any more attacks/defence rolls than indicated as their full attack mode, i.e. a troll (2 claws +9, and bite +6) may bite as an attack and the use the claws to either defend or attack – it would normally not choose to use more than 3 attacks/defence rolls in a round unless pressed.

Initiative decides who gets to do their thing first, allowing the fast ones to choose to attack or to wait to defend. The person with the highest initiative roll goes first. That person’s next initiative roll that round is 10 less. Depending on the action chosen, the creature may or may not take further actions that round. Every time your initiative comes up you have the following choices, which affect the choices for the rest of the round:

	Action
	Action options at the next initiative point that round

	no action 
	any action allowed. If no action is taken at all this round, the next rounds initiative roll is at +5

	free action
	any action allowed

	move-equivalent 
	only move-equivalent OR standard action allowed

	standard action
	only move-equivalent allowed 

	full round action

	no further actions

	partial action
	no further actions


If the initiative is won by more than 10 (or 5 if attacker is on favored ground
) an attacker catches the defender off guard and the defender may not defend as the attacker is too fast for the defender. Effectively the attacker gets to resolve two actions before the defender has a chance to react. If this happens in the first round of combat the defender is considered to be surprised and is only allowed a partial action on the first round.

The initiative has no influence on how many attacks a creature may make, only when they get to react. 

Weapon size and initiative

A new and important initiative modifier is that most small weapons give +3 to initiative rolls when engaged in combat. However they also incur a –3 penalty on defence rolls when used to defend (see below)! Similarly large weapons incur -3 on initiatives, but their defence rolls are unaffected.
Attacked and not defending

If caught by surprise or otherwise unable to react to an incoming attack (being caught unaware, paralyzed or without enough defence points left that round etc.) the attacker simply rolls a to-hit roll against the defenders flat-footed touch armour class. This will normally be a DC 5 to hit roll modified only by size as dex in this case counts as 0 (i.e. -5 DC to the normal DC 10 to hit standard). If the attack roll equals or exceeds the DC.  

Attacked and defending

Whenever you are aware of an attack and able to move you are allowed to attempt to defend yourself. You may chose to ignore the attackers, as most constructs and undead tend to, but doing so is rarely advisable. Trying to avoid an attack requires you to make a defence roll. A defence roll sets the difficulty for the attacker determining how high his or her attack roll needs to be in order to hit you. Therefore a defence roll is effectively an opposed roll against an attacker’s to hit roll. This reflects how the skill of the attacker and defender come into play in determining whether or not an attack slips through and potentially harms the defender. Defence rolls symbolize attempts to move out of the way, block and deflect attacks and as such require that the defender is aware of the attack. Defence rolls have the same base as attack rolls. They are not modified by strength, but all the normal AC bonuses that you would lose when flat-footed are applied to the defence rolls. This includes dex modifiers, deflection bonuses, dodge etc. Thus a will ’o’ the wisp with it’s impressive former AC of 29 would now be an easy target for a surprise attack (if that is possible), but is a formidable defender having a defence roll of +34 (!) due to +16 for their base attack roll, +9 for dex and +9 for deflection. However, if surprised they are hit on an attack roll of 6, getting only +1 for their small size. An easy target if you can just get it to stand still.

In a given round you can chose to make a any number of defence rolls, but due to the rule of five (see above) every attempt get harder and harder and eventually the defender runs a risk of making things worse by trying to avoid the attack rather than just ignoring it.

Missile weapons are harder to defend against as they tend to be very fast and therefore hard to avoid. Subsequently any attempt to defend against missile attacks are at a –5 penalty on defensive rolls. 

To resolve an attack against an active defender the attacker rolls an attack roll and the defender a defence roll. The outcome is then determined as follows:

· Defender wins = the attack fails. 

· Attacker wins by less than 5 = the attack fails

· Attacker wins by 5 or more = the attack succeeds and the target is hit. 

If the attacker wins by 10 or more, the attack is a critical hit Weapons with expanded crit. ranges cause criticals on 9 or more if they were 19-20 before, 8 or more if they were 18-20, etc. The attack is also critical if the attacker rolls a 19 or 20 and wins by 5 or more. If either the attacker or defender rolls 2 or 3 the person fumbles and not only loses the opposed roll, but also loses his or her next action (attack, defence, spell or move as appropriate).

Shields aid active defences by granting a deflection bonus to defence rolls according to the table below. Unless the shield is used actively it provides no effective defence unlike armour. The disadvantage of using a shield is that the size of the shield prevents effective use of the arm and therefore provides a penalty (the armour check penalty) that applies to all rolls requiring the use of the shield hand including climbing, hiding, spell casting involving S components etc. (which does not affect psions as they don’t have somatic components).

Shields provide the following benefits and penalties:

	Shield type
	Defence bonus 
	reflex saves
	protected angle
	 max dex.
	armour check

	buckler or hand guards
	+3
	0
	1 hex
	+8
	-1

	small
	+5
	+1
	1 hex
	+4
	-1

	large
	+6
	+2
	2 hexes
	+2
	-3

	tower
	+8
	+3
	3 hexes
	+0
	-5


Physical protection

Physical protection due to armour or similar defences that moves with the wearer and provides a last protection against at hit do not hinder attackers chances of hitting the target, but reduces the effect of a hit. Physical defences include armours, natural armour, magical devices of armour, physical defence spells, etc. Instead of aiding armour class, they reduce the damage of a hit by a number of damage point equal to the former AC bonus, thus leather armour grants a non-magical DR of 2, whereas a full plate would reduce damage by 8. This damage reduction also works against magic types that are based on reflex saves. Against other types of magic physical protection provides no help. Note that physical protection does NOT as a rule stack. To avoid game imbalance only one type of physical defence may be used at a time. In some cases a bonus to the physical defence of a given subject may be warranted (e.g. a storm giant putting on a breastplate should be better protected than a storm giant without). In such cases on half the lowest protection is added to the total DR. Thus, a Minotaur (natural armour of +5) in a special made leather armour would gain 2/2=1 points of DR giving a total DR of 6. Note that physical defensive spells are also included in this, so if our minotaur was a spell caster and created a protective field around him at DR8 he would now have a DR of 8 (magic field, which is now the highest DR of the three) + 5/2=3 (from natural armour) and +2/2=1 (from the leather armour) for a DR total of 12! 

Magical weapons always deal their magical bonus in damage regardless of any damage reduction. This is called a magical sting. Thus a magical +2 short sword doing 5 points of damage against a guy in banded mail (DR 6), would do still 2 point of magical stinging damage regardless of the armour. Magical armour works to counter this effect providing protection from even magical weapons equal to their own magical bonus. So had the banded mail been a magical +1 banded mail the sting from the short sword would only have been 1 point of damage. The same effect applies to spells that are reduced by physical armour. In theses cases the spell produces a magical sting equal to the number of dice used to roll damage. Magically based physical armour similarly prevents magical stings up to 1 for each full 3 points of physical defence. Example: A wizard with an active physical defensie providing 8 points of defence is stuck with a +2 sword would not take any magical sting from the weapon, but a +3 sword would do 1 point of magical sting even if the total damage didn’t exceed the 8 points of damage reduction.

Some weapons are more effective against armour than others. See appendix for details.

The old DR amount is now irrelevant as natural armour takes the place of this number and the plus after the slash is now an indication of the magical armour equivalent. Thus a monster with the old DR of 15/+1 and +8 on ac due to natural armour would now be a monster with a magical +1 physical protection of 9 Natural armour 8 +1 magical), which means that any physical attack is reduced by 9 points of damage and even +1 weapons and 1 die of spell damage fail to penetrate with their magical sting. In this system an iron golem now (only) has a magical +3 DR of 25 (22 natural armour and +3 magical for the old DR of 50/+3). Thus it takes a minimum of 26 point of damage or at least +4 weapons or 4 dice of spell damage by physical attack spells to affect it – and a +4 weapon would only deal 1 point of damage! There’s probably is an easier way…

In short the way to calculate you DR is as follows:

DR= the highest ac bonus of strongest physical protection + half of any other physical protection 

Two weapons/double weapons/multi-attackers

Using two weapons or double weapons incurs a -3 penalty to all attack rolls and defence rolls. The benefit is that the character gets to make the first attack or defence without incurring the rule of five penalty. This can be a great advantage as using two weapons doesn’t build up the heavy penalties so fast depending on the actions of the wielder. If the wielder is defending and/or attacking more than 2 times in one round it can be advantageous, compared to making one or two attacks/defences. The wielder must choose to use the two weapon/double weapon option in the first attack or defence action. Wielding two weapons/ a double weapon allows the wielder more options in how to respond in a given situation, which is the biggest advantage of using this style of fighting. Anyone who has the two-weapon style feat only incurs a -2 penalty instead of the -3. Creatures with the multi-attack attack with the noted attack/defence bonuses rather than the standard rule of five. They still suffer from the rule of five penalties but tend to have more attacks at a higher to-hit bonus. E.g. an average xorn uses it’s normal attack profile +10 (bite), +8, +8, +8 (three claws) rather than +10, +5, +0 etc. making it well adapted for combat with many opponents as the attacks are considered to be separately controlled rather than carefully coordinated moves. Any attacks or defensive actions invoking the rule of five are at -5 each after the noted special attack bonuses. Thus the xorn attacks or defends at +3 if forced to do so a fifth time in a round. 
Attacks of opportunity (AO). AO’s count as a free attack and allows the threatening person to choose to take a bonus attack outside the normal initiative order at the attack bonus the person has at the time remembering the rule of five. An AO requires attention is consequently also the subject of the rule of five. 

Reach based AO’s are triggered when an opponent moves into or out of a threatened square that it itself doesn’t threaten. If the attacker manages to hits (defence rolls allowed) the moving person is stopped in his or her tracks in the threatened square and may only choose to move into any adjacent square (maybe calling for new AO’s) away from the attacker thus ending the move for that action unless the creature is two sizes larger than the defender in which case it may ignore the AO (taking the damage) and keep moving.   

A note on monster attacks: Monsters tend to be aggressive and rely on attacks rather than combinations of attacks and defences because claws and beaks make for lousy blocking devices and many monsters have natural armour to protect them. However, they may forego attacks in favor of defence rolls when faced with many opponents reflecting that they don’t heedlessly attack, but attempt to move around and dodge attacks waiting for an opening. Some monsters are likely to attempt to flea or surrender if badly wounded rather than go on the defensive due to intelligence or lack of weaponry. Monsters with no intelligence score never defend (i.e. oozes, most undeads and constructs).

Taking damage

When a creature takes damage it reduces the con equal to the damage taken. But due to pain and reduced functions the other stats suffer as well. For each 2 points of damage to con all the other stats are reduce by one as an effect of the damage effectively causing -1 to all other stat-based rolls for each 4 con points of damage (this may be an easier way of keeping track of the effect of damage taken). Thus a creature loosing 8 con also looses 4 in all the other stats and therefore suffers an average of -2 on all stat-based rolls. If the creature ignores criticals it also ignores any secondary damage. Half of all damage is only temporary and reflects the immediate effects of getting bloodied up and hurt. This damage goes away relatively fast (see Recovering from damage below). The second half, however, reflects broken bones, large gashes and deep wounds and normally takes longer to heal. 

When reduced to 0 con the character is unconscious but stable, If reduced to less than 0 the character is considered to be dying and rolls a d10 each round to see if he or she stabilizes. On a roll of 1 the character stabilizes, otherwise the character takes 1 point of damage as they are now dying. At -10 con the creature dies.

Recovering from damage

If the creature is conscious (1 con or more) first aid can be attempted. This roll takes a full minute of attention, but if the healing check is successful (DC 10+damage taken) it heals all temporary damage, which is ½ of all the damage taken in the encounter
. If left untreated or the first aid check is unsuccessful half of the damage taken automatically goes away after an hour of complete rest and tending to the wounds to reflect that the effects of the damage can be relieved with some attention and rest. Note that the temporary damage does not go away by it self. Someone has to be able to tend to the wounds in order to get rid of the temporary damage and thus an unconscious character cannot shake the temporary damage until he regains consciousness.

Healing the last half of any damage takes longer. If unaided the rate of healing is 1 con/day of light work and 2 con/day if resting completely. Anyone with healing skill can attempt to aid the process by making a healing check every day. If a healing check is successful (DC 10+remaining damage) the care healing rate increases to grants 2 con + any original con bonus for light activity or 3 con + any original con bonus for complete rest. 

Another way of speeding up the process is by using a healing pack or someone with the healing power (which is not the same as the spell power). This takes a full turn and requires a healing check. For each 3 points above 15, 1 con point is regained. Only one such healing attempt may be made after the temporary damage has been recovered.  

For each 2 points of con regained, 1 point is also regained on all the other affected stats in the exact reverse of how they were lost through damage.

A successful first aid check can also be used to stabilize a dying character. This is a DC 15 healing check and requires a full round action. A successful check stabilizes a creature that has been reduced to less than 0 con. Such a check can be performed every round. 

Example 1: A warrior with 16 con takes 12 points of damage and withdraws from the battle. He now has – 6 on all other stats and therefore -3 on all other stat-based rolls. After a turn of care and a successful first aid check at DC 22 (10+ damage taken), all temporary damage is gone and the con is now at 10 and the other stats are at –3 in stead of –6 as the worst pain has been relieved. If the healing checked failed the warrior would need to rest for an hour to get rid of the temporary damage. If he was being chased, this might not be an option and the temporary would remain until he could rest. After regaining the temporary damage, if anyone had a healing pack to use and made a successful healing check of e.g. 21, the warrior would gain 2 con (1 con/3 points above 15 rolled) and thus be at con 12 (10 after first aid and 2 extra for the healing pack) and thus only require two days of rest to be fully recovered (gaining the last 4 con for that). 

Example 2: Let’s say the warrior above is hit by an arrow as he retreats and looses another 6 points for a total of 18 points of damage, and is now at -2 con. He is out and must roll a d10 each round to see if he auto-stabilizes or is dying. After 2 rounds without stabilizing a friend administers first aid successfully (a DC 15 roll). The warrior has now lost an additional 2 con and is at -4. With the help from friends he could regain the temporary con within an hour of rest and tending or one minute of successful first aid (DC 28!). I any case, he quickly regains the temporary damage, which is ½ of the total damage sustained, i.e. 9 con (18/2=9) and that brings him to 5 con. Then the friend (Healing skill 10) tries to administer healing with a healing pack rolling 24 on the healing check. This provides the warrior with another 3 con, coming up to 8. After a full days rest and if the friend makes a successful healing check at DC 18 (10 + the total damage remaining) and the warrior regains 3+3 (for the original con bonus) = 6 con points bringing him up to 14 con. After another day of full rest he regains the last 2 con regardless of whether the friend makes another healing check, this time only at DC 12 (10+ the remain 2 con damage). 

“Old war wounds”

As a DM option, severe wounds may require more than simple time. If case of massive damage the DM may require a player to make a fortitude save at DC 15 once all damage is healed. If this is failed then something still isn’t right. The nasty wound has caused a permanent problem e.g. sight impaired (-1 spot, search etc.), ugly scars (-1 chr), aching legs (-5 move), tricky elbow (-1 th/defence) etc. These effects are not meant to cripple the characters, but could be the start of a mission to undo this effect. Don’t let the characters get off by using simple magical healing. These effects should be really hard to get rid of (DC 35+). 

Subdual damage/temporary damage

Some attacks do little or no physical damage, but can none the less be effective. Subdual damage is noted separate from the normal damage as explained in PHB, p. 134. Subdual damage does not affect the other stats, so 6 points of subdual con damage does not cause 3 points to the other stats as subdual damage is not broken bone etc. – it is simply pummeling and pain. If the normal damage + subdual damage brings the con to 0 or below, the character falls unconscious, but is not dying unless the normal damage alone is enough to bring the con to 0. If the total normal damage + subdual damage brings the con to -20, the creature dies. Subdual damage is regained same as temporary damage: Spending a minute and making a successful first aid (DC 10+damage taken) removes all subdual damage. If untreated or the first aid check fails the temporary damage is regained after an hours rest and tending.

Special cases

Undeads and constructs

Undeads and constructs and other creature with no con are reduced in str instead of con when they suffer damage. The strength loss does not affect their attack or any of their other stats. When reduced to 0 str they simply cease to move and function.

Incorporeal undead take damage on their dex instead of str, but are not affected by non-magical attacks at all. The only way to damage these creatures is to use magic and that only deals the magical sting of the attack, i.e. one point for each plus of the weapon or die of damage for spells and magical effects. Only positive energy affects them fully. In addition incorporeal undead cannot be destroyed by being reduced to 0 dex, but the damage will dissipate it for a while (to reform in a day or so). They normally require special conditions to be destroyed (exposure to sunlight, their physical bodies put to rest etc.) but they can also be turned or dispelled (causing them to dissipate for 1 day/die of damage dealt) with a positive energy slam. 

Lycanthropes

Lycanthropes and other creatures that have a special DR with a particular substance they were affected by (e.g. silver) retain any physical defence they may have when attacked with that substance. Thus, even when attacked by silver weapons a werewolf would still have a DR of 4 against such attacks and DR 15 vs. all other attacks. This applies to all spells that cause physical damage as well (reflex-based saves).

Important numbers!

During character creation there are a few combat related numbers that the players should calculate and understand before starting out.  The following is a reference guide to help players make the necessary calculations. There are a number of basic rolls that differ slightly from 3rd ed., so the following formulas should help clarify what the different rolls entail. Every character should make out the following three calculations for each weapon or way of using the weapon at their disposal:

Attack rolls:

Melee weapons: base attack + AP spent to raise base attack + str mod. + magic bonus + FIGHTING STYLE MODIFIERS
 + special modifiers (such as racial, class or other modifiers)

Missile weapons: base attack + AP spent to raise base attack + dex mod. + magic bonus + other modifiers + FIGHTING STYLE MODIFIERS + special modifiers (such as racial, class or other modifiers)

In addition there may be circumstantial modifiers to these basic rolls

Damage rolls:

All weapons: base damage + ability modifiers + magic bonus + vs. armour
 + special modifiers 

Initiative:

All weapons: base initiative + weapon modifiers

In addition the following numbers should be made ready for each weapon: Range/reach, crit. range, and special rules such as “stick in target”, trip, disarm or other special features of the weapon.

The pregenerated character sheets can be used to some advantage.
Appendix:

Distribution of sums using 2d10:
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Chance of successfully rolling DC or higher on 2d10
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Differences in chances to successfully roll various DC or high on 1d20 vs. 2d10:  
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� There are some exceptions to this rule e.g. creatures with the multiple attacks spending a full round action attacking, monks using their martial arts skills, etc. 


� NB! This includes running or making more than one attack in a round.


� This includes flying creatures vs. non flying/non missile firing, water based in water, earth based underground, most incorporeal as they can move freely through the area to attack from where they wish.


� Some types of damage only causes temporary damage such as subdual damage (see below) or damage from shadow magic and is healed along with half of any normal damage.  


� Fighting style modifiers include the different ways in which the character may use the weapon such as using weapon-style, double weapon, power attack, weapon finesse, flurry of blows, point blank shots and such feat/skill or other ability related options. The player should calculate as many different attack rolls as is necessary to cover all the most common combat options.


� Weapons may do more damage against some types of armour and the character should be well aware of such bonuses





_1207327318.xls
Diagram1

		1

		0.9898989899

		0.9696969697

		0.9393939394

		0.898989899

		0.8484848485

		0.7878787879

		0.7171717172

		0.6363636364

		0.5454545455

		0.4545454545

		0.3636363636

		0.2828282828

		0.2121212121

		0.1515151515

		0.101010101

		0.0606060606

		0.0303030303

		0.0101010101



Roll>/=DC

Udfald af 2d10

Udfald =/> DC



Ark1

				1		2		3		4		5		6		7		8		9		10

		1		2		3		4		5		6		7		8		9		10		11

		2		3		4		5		6		7		8		9		10		11		12

		3		4		5		6		7		8		9		10		11		12		13

		4		5		6		7		8		9		10		11		12		13		14

		5		6		7		8		9		10		11		12		13		14		15

		6		7		8		9		10		11		12		13		14		15		16

		7		8		9		10		11		12		13		14		15		16		17

		8		9		10		11		12		13		14		15		16		17		18

		9		10		11		12		13		14		15		16		17		18		19

		10		11		12		13		14		15		16		17		18		19		20

		DC		Roll>/=DC		Roll=DC		antal				Roll>/=DC		Sandsynlighed		antal

		1		0		0		0				1		0.05		1

		2		1		0.01		1				2		0.1		1

		3		0.99		0.02		2				3		0.15		1

		4		0.97		0.03		3				4		0.2		1

		5		0.94		0.04		4				5		0.25		1

		6		0.90		0.05		5				6		0.3		1

		7		0.85		0.06		6				7		0.35		1

		8		0.79		0.07		7				8		0.4		1

		9		0.72		0.08		8				9		0.45		1

		10		0.64		0.09		9				10		0.5		1

		11		0.55		0.09		9				11		0.55		1

		12		0.45		0.09		9				12		0.6		1

		13		0.36		0.08		8				13		0.65		1

		14		0.28		0.07		7				14		0.7		1

		15		0.21		0.06		6				15		0.75		1

		16		0.15		0.05		5				16		0.8		1

		17		0.10		0.04		4				17		0.85		1

		18		0.06		0.03		3				18		0.9		1

		19		0.03		0.02		2				19		0.95		1

		20		0.01		0.01		1				20		1		1

								99





Ark1

		



antal

Udfald af 2d10

Antal



Ark2

		



Roll>/=DC



Ark3

		



Roll>/=DC



		DC		2d10		1d20		antal		Roll=DC				Roll>/=DC		Sandsynlighed		antal

		1				1		0		0				1		0.05		1

		2		1		0.95		1		0.01				2		0.1		1

		3		0.99		0.9		2		0.02				3		0.15		1

		4		0.97		0.85		3		0.03				4		0.2		1

		5		0.94		0.8		4		0.04				5		0.25		1

		6		0.90		0.75		5		0.05				6		0.3		1

		7		0.85		0.7		6		0.06				7		0.35		1

		8		0.79		0.65		7		0.07				8		0.4		1

		9		0.72		0.6		8		0.08				9		0.45		1

		10		0.64		0.55		9		0.09				10		0.5		1

		11		0.55		0.5		9		0.09				11		0.55		1

		12		0.45		0.45		9		0.09				12		0.6		1

		13		0.36		0.4		8		0.08				13		0.65		1

		14		0.28		0.35		7		0.07				14		0.7		1

		15		0.21		0.3		6		0.06				15		0.75		1

		16		0.15		0.25		5		0.05				16		0.8		1

		17		0.10		0.2		4		0.04				17		0.85		1

		18		0.06		0.15		3		0.03				18		0.9		1

		19		0.03		0.1		2		0.02				19		0.95		1

		20		0.01		0.05		1		0.01				20		1		1





		



2d10

1d20



		





		1

		2

		3

		4

		5

		6

		7

		8

		9

		9

		9

		8

		7

		6

		5

		4

		3

		2

		1



antal

Udfald af 2d10

Antal



		1

		0.9898989899

		0.9696969697

		0.9393939394

		0.898989899

		0.8484848485

		0.7878787879

		0.7171717172

		0.6363636364

		0.5454545455

		0.4545454545

		0.3636363636

		0.2828282828

		0.2121212121

		0.1515151515

		0.101010101

		0.0606060606

		0.0303030303

		0.0101010101



Roll>/=DC

Udfald af 2d10

Udfald =/> DC




